
Nom: 　　　　　　　 Date: 　　　　　　 Note: 　　　

Multiplier les nombres décimaux par des puissances
négatives de dix

5283, 6 × 0.001 = ________ 8288, 9 × 0.001 = ________

8311, 4 × 0.001 = ________ 4472, 7 × 0.01 = ________

8266, 8 × 0.01 = ________ 6738, 5 × 0.001 = ________

7070, 1 × 0.001 = ________ 5338 × 0.1 = ________

8917, 9 × 0.0001 = ________ 6118 × 0.001 = ________

8236, 3 × 0.0001 = ________ 4497, 2 × 0.1 = ________

1632, 6 × 0.1 = ________ 7442, 6 × 0.001 = ________

6550, 8 × 0.1 = ________ 2501, 1 × 0.01 = ________

2793, 7 × 0.01 = ________ 2272, 6 × 0.1 = ________

5070, 5 × 0.0001 = ________ 4238, 1 × 0.0001 = ________
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Nom: 　　　　　　　 Date: 　　　　　　 Note: 　　　

Multiplier les nombres décimaux par des puissances
négatives de dix

5283, 6 × 0.001 = 5.2836 8288, 9 × 0.001 = 8.2889

8311, 4 × 0.001 = 8.3114 4472, 7 × 0.01 = 44.727

8266, 8 × 0.01 = 82.668 6738, 5 × 0.001 = 6.7385

7070, 1 × 0.001 = 7.0701 5338 × 0.1 = 533.8

8917, 9 × 0.0001 = 0.89179 6118 × 0.001 = 6.118

8236, 3 × 0.0001 = 0.82363 4497, 2 × 0.1 = 449.72

1632, 6 × 0.1 = 163.26 7442, 6 × 0.001 = 7.4426

6550, 8 × 0.1 = 655.08 2501, 1 × 0.01 = 25.011

2793, 7 × 0.01 = 27.937 2272, 6 × 0.1 = 227.26

5070, 5 × 0.0001 = 0.50705 4238, 1 × 0.0001 = 0.42381
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